Year 3 Homework 9 Answers

ENGLISH ENGLISH ENGLISH ENGLISH/MATH MATH MATH
1) B 18) C 35) bushes 52) dangerous 69) 748 86) 156
2) A 19) B 36) classes 53) 3 70) 2550 87) 176
3) C 20) A 37) fur 54) 7 71) 1330 88) 51
4) B 21) c 38) ananimal 55) 10 72) 781 89) 83
5) C 22) B 39) fish 56) 8 73) 714 90) 142
6) A 23) A 40) horns 57) 12 74) 5133 91) 71
7) A 24) trees 41) kitten 58) 8 75) 2208 92) 148
8) A 25) books 42) Africa 59) 4 76) 2016 93) 2
9) B 26) animals 43) groups 60) 2 77) 42 94) 36
10) B 27) rivers 44) pride 61) 40 78) 21 95) 32
11) A 28) games 45) strong 62) 837 79) 61 96) 21
12) A 29) girls 46) Jungle 63) 136 80) 15 97) 2
13) A 30) tables 47) neck 64) 188 81) 65 98) 55
14) c 31) cars 48) hunting 65) 585 82) 53 99) 21
15) A 32) girls 49) zebras 66) 424 83) 43 100) 32
16) B 33) foxes 50) cubs 67) 420 84) 43
17) B 34) watches 51) animals 68) 132 85) 68




OPTIONAL ANSWERS

144+12=12 9+1=9 56+8=7  77+11=7
n 4
Singular Plural X Bg % 42 X Bg X g
28+7=4  24+2=12 40+4=10 B84+7=12
— 680 138 258 138
s fingcr 18+3=6  99+9=11 8+2=4 20+4=5
post e 70+10=7 4+2=2 80+8=10 27+0=3 71 14 42 10
batte battles x 42 x 54 X 24 X 59
apple el 6+6=1 44+4=11 96+12=8 9+1=9 2982 758 1008 280
S abbits
rabbit : 45+9=5  7+7=1 18+3=6  6+2=3
i chairs
S : ) ) i ) 52 92 40 57
penci pencils 24+12=2 54+6=9 110+10=11 16+4=4 o a6 6 )552 3 120 5 J285
40+8=5 B8+1=8 10+10=1 45+9=5
i dhe bt o K 32:8=4 120+12=10 70:10=7 108:9=12
) ) ' 39 92 77 3
One witch but two iches | 12+3=4 42+7=86 6+1=86 36+4=9 5 5195 7 §644 2 j154 8 j248
One thrush but two _thrushes |
One miss but two __misses 42:6=7 B+4=4 4+2=2 21+7=3
One bone but two DES
B it hewde. g+2=4 15+5=3 16+8=2 132:12=11 40 88 65 13
two.  wisihe 6 )240 4 )352 7 455 8 )104
Onewish but two__ wishes . 10+10=1 10+10=1 55:11=5 70+7=10
One box but two __ boxes
One dish but two_ dishes __ 1+1=1 72+9=8 48+:6=8 10+5=2
Snaewiat i 1B+9=2 45+5=9 50+5=10 42+6=7
6+6=1 50+10=5 121+11=11 12+2=6

A cat likes to chase mice . (mice, dogs, sheep)

; 132+11=12 144+12=12 90+9=10 24+3=8

A happy cat purrs | (barks, purrs, roars)

A cat has a long tail .(nose, tail, ear) 15+3=5 ol RakeddmAl dlEtes
40+5=8 42+6=7 B4+12=7 48+4=12
42+6=7 6+1=86 20+5=4 88+8=11
22+11=2 18+3=6 4 +4=11 9+9=1

10+2=5 30+10=3 11+11=1 M+11=1

12+1=12 18+2=9 28+4=7 90 +10=9

8+2=4 90+9=10 6+1=6 44+4=11
6+2=3 40+10=4 2+1=2 40+10=4
56+7=8 6+3=2 45+9=5 30+5=6

108+12=9 24+12=2 81+9=9 21+7=3



